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Question Number : 1 Question Id : 51714412937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through
patterns and relationships?

o) e 30 Sirare grofarge e HErarTeR) @tho DB e

®i00000350 606 7
Options :
Visual
1. % CSJ%‘S
Auditory
2. % (#es
Kinesthetic
8555
3. %
Logical
4 E@D&gﬁ

Question Number : 2 Question Id : 51714412938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a traditional lecture-based classroom, who primarily controls the flow of
information?

PoEITrahE edaegd eprd $5K8 Kost Hdmaet @arard)) DaHolBoHdd JBh?



Options :

Students
3}550550@3
[

Feers
2 % SBarts

Educational technology

 DoDRcDH FPoS8Es
3. %

Teacher
4. 5*365%3{53

Question Number : 3 Question Id : 51714412939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
aiatgéj ﬁmno;m ﬁa’mg F55% e DS5eEBIoN?

Options :

By replacing the need for teacher involvement.
| % H5HD HHohH o808 E,“SESD Sc50e ApNey

By providing a distraction-free environment.
ﬁiﬂ@’@%oé?} arardno BOA0HhE teqoe
E

By facilitating varied learning experiences.

3 @ DG ©grgd edgraroih hegsdo Sa%0és Ao



By automating assessment and grading.
0605, BBord oo wredo Dcsne apNe

Question Number : 4 Question Id : 51714412940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses” in a choice-based education system refers to
courses that:

208 eagred Sjméégaéﬁ Qé}&?ﬂ %ﬁ{ﬂg\j@} oRm &% OMHD 55653‘3@

Options:

Are mandatory for all students
=lolnleY E}Eﬁt’éﬁgﬂé SRV00

1. %
Are chosen by teachers for students
Degthe B8 SHein JobE DI
2. % p
Students can choose based on their preferences
Dergoen 778 ([ErerisSe oxoe dobE Sar
3.v “ >
Are only related to physical education and sports
FBBE D, Bod SrED Bon0HoDHE
4, %

Question Number : 5 Question Id : 51714412941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based learning tool?
& BIDD RS OB ICT-w5rds8 ey HBE5KD

Options :

Whiteboard and marker
@géﬁﬁ% Vislevn R vie)leY

Chalk and blackboard
28, $9 éf’éﬁj

2. ®
Printed texthook
Se(BoDS arargod HHEHD
3. ®
Educational software on a tablet
3E5 2 Doy DAGH FHI6
4. =

Question Number : 6 Question Id : 51714412942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(23B80H0R @R Jothaew 58885 SmnggeEsan

Options :



It allows researchers to keep their methods secret.
©8h HB855%en &5 ;'jgéjﬂéj B5g0re S0BEPRNE SHDPRIEE0E

It ensures that research findings are applicable only to specific cases.
8" @’Jééé Bhos® SrEh 58885 St $80Tken Ko

2. ®
It allows other researchers to repeat the study to verify the results.
@8 =288 HBESHen o HDaresH HBSrHEHD eggahido SBA
Somérden 0vHod

3.¢ B
It prevents other researchers from using similar methodologies.
=288 H8888Hen wenHoB mga}um Evtat=vlelns KJSB&:.‘@DDE}

4. %

Question Number : 7 Question Id : 51714412943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Post-positivist researchers are more likely to:

éjﬁ% @ﬁﬁéﬁfﬁ% $588%¢5%en QEDES Dograjgore

Options :

Completely disregard quantitative data

- IPOre HBerd)E SerodR ASEo e

Focus solely on subjective experiences
e&éé'go‘ﬁj ER0ETPET°E) 20 :ﬁﬁ“:,é’q A Ee
2. ® o



Acknowledge their own biases and limitations in research

$588%556° 850 S0 Darere, H6dhded B0
3.¢

Reject the need for peer review and validation
&Barh ‘5‘3&‘05, tﬁaﬁ)éfﬁme_} ©DITR) BEHBFD

Question Number : 8 Question Id : 51714412944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 858010 3D Frproetorr o) duhonod FHoS GHEPATE

Options :

Social sciences

oy Foren
1.9 %U &

Natural sciences
Dees @laen

Engineering

3 % 508080

Medicine



Question Number : 9 Question Id : 51714412945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How can ICT assist in the literature review process during research?
588%5:56° (Hog HWBH ICT ey H:PEBoS Keth?

Options :

By providing opportunities for plagiarism
& (of T B edsearen SO

1. %

By allowing researchers to skip the literature review phase

% H88 8% Ko Eéfbg B&0 méﬁé&@n Dc50é apN e
2. %

By offering access to online databases and academic journals

& 6388 Swrod FrHoren, HugHBEed HREo Edoher txoe
3.¢ ot

By replacing the need for citations and references

eBparen. [HFEHden, @ioeg) godcne awo
4. %

Question Number : 10 Question Id : 51714412946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



What is the function of an "Appendix" section in a thesis?
50888 e aaﬁ”;éméﬁ " @2088) " Dgrits) DB &

Options:

To introduce the main research question
58880 SoggEHD HBScho S5

1. %

To provide additional details that support the main text
5 Soggardsiogrd Eﬁjiéé}r@ @i5d) Ddoredy Bl

To summarize the research findings
5B ST KRR Holifsorr 3o Aol

3. %

To present the author's personal opinions

Baomes se8re gradied mding oxoe
. 581 g Bl oy
Sub-Section Number : 2
Sub-Section Id : 517144528
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714412947 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

H50RE: (ot mixabd Sirarbo egrdore Q. 115506 Q. 15 HEpH Sirgrarom
[@raob.
The Castle of Edinburgh is free (as appears fo be the case with all garrisoned places in

Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.
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Sub questions

Question Number : 11 Question Id : 51714412948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Thereis a inside the boundary wall of the castle
8% 558 B S%5e a8 S06.

Options :

low hill
{’.}K& BP0

steep hill
o828 BP0l

boulder
2otsTran

rocky terrain
oed Zomgeiio

Question Number : 12 Question Id : 51714412949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
08D (arseTre b8 Hod ad BOBHHER™ S0b
Options :
cannon
| aSoh



platoon of soldiers’
=, Ty
2D Yoo

group of officers’
3 x ©HsHo aotio

group of guards’
4 % POO Sdedeo
. G

Question Number : 13 Question Id : 51714412950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The old chapel is situated on the of the hill.
aods @vgaﬁ Shobto o &0b
Options :
foot
1 % B0
ridge
5 % S0LHR
summit
dpbo 2D

3.¢



surroundings
HBGTee&d

Question Number : 14 Question Id : 51714412951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
BSomes @ﬂgaﬂ shobBo Ging) R DENHTH

Options:

History
nfells

’I_bé

location
He0
2.8 @

structural design
Nepl Eegensd
\.-""I o

ambience
e NBE0

Question Number : 15 Question Id : 51714412952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The author visited the castle, as a
BSomes, es Bexdo 2.8

Options:

tourist

1@ émvgj@éj&rw

historian
> % DO(EsHET

soldier
B

archaeologist
HoHS) FHBEe
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Question Shuffling Allowed :
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Question Number : 16 Question Id : 51714412953 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0



Being an communicator helps in resolving conflicts and
misunderstandings in communication.
éa’méﬁ}éﬁ}gm So¥io Do émgﬁéﬁﬁéﬁ Dedoren HBH

@uﬂﬂugejé} 5’}62@5@5{5@6{’ HedahNtehod.

Options :
empathetic
| FrodireSire

inconsiderate

3 D039
2_ W
observant
Kdood
3. %
inconsistent
etanm
4, % il

Question Number : 17 Question Id : 51714412954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for _ communication
SB158 KHE® sfBerarob )aD SrSden Hbain SrditEso eobodto
©26 EX0gRBAS 6 a8 5.

Options :



controlled
1 & NdDo@odabd

procedural
» PRDBHD

unintended
3 @ Sl
content
. Sach m&@;ﬁj

Question Number : 18 Question Id : 51714412955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being s a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
araP S0Ba %ﬂ@ﬁgg@é 353@550 Ddyore &) 5’35%55 SEH Sonogrd)

DB S=08 o o8 s5to Soo

Options :

close- minded
oI a’)ﬁé*’mr:]

open- minded
DF°0 HNJE0 Bl
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self- reflexive
foﬁdi} TR

self- respectful

) ?::5@:13 aietle!
4, %

Question Number : 19 Question Id : 51714412956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.
otisDd Abaho 8053 SJeTgen EOA S0TP008, 2.8 5588

55308 B0DBeren GOTD.

Options :

social
PN o]

psychological
S3PR0

spiritual

@m@@&é

emotional
E,}'Dﬁﬁaéﬁ



Question Number : 20 Question Id : 51714412957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
B B0 BOD=S Sr6 s Grrseteen
Options :
electronic

1. DgHes

print
5 % (e
I social
Y T
3.
traditional
A 20(TEHE IR

Question Number : 21 Question Id : 51714412958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



8.4,4,6, 12, 30,

Options :
1 % 79
95
2. %
90
3. ¢
105
4. %

Question Number : 22 Question Id : 51714412959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, ___ CXEQH, GSKJP

Options :
FTJKO
FUILM

2. %

EULIM
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Question Number : 23 Question Id : 51714412960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ?

2.8 DON T8 270’ FRAME = 48 <9005 HURDLE =74 050 eo00d

FIGMENT= ?
Options:
74
1. %
89
2. %
91
3. #®
81
4.

Question Number : 24 Question Id : 51714412961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

365 ¢57.1,00,000 DEPDAS T5arS0 (BFS0E0TTR. (HAD 3 T ehUr 26k
3. 1,50,000 © Denabd eSS TOW. _ INCE H0aie )50

Fngo P06 355 arer &P, 51,000 D w0k B awir

Options :
21,000
1. %
“ 20,000
27,000
3. %
24,000
4.

Question Number : 25 Question Id : 51714412962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

2,8 50 ¢38) e Er.12,000.8 e95030953 )% 20% e, &
20,000 8 e9:22¢50 &° 50° e9eba) 80T ere T30, _

Options:

15%

1. %



33.33%
2. ¢

16.66%

25%

Question Number : 26 Question Id : 51714412963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements:

No village is a city.

All cities are states.

BAEATN ISV

o) DBTETH SISO 5.
@) Soren 0 le.
Conclusions:

l. Some villages are cities.
1. Some cities are states.

3T eN”
. Q) [ITadreny Sfforew.
. Q) Sforen T°lalew

Options:

| follow

Il follows



Both | & Il follows.

MNeither | nor |l follows

Question Number : 27 Question Id : 51714412964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.

How many students opted only Science?

90 0O Veedend) SEHBS 60 S0 ST, 50 H0A S, 20
06 o003 OTHET) K. D0BD0O DTzhen T D S
DOTDED®) 0?

Options:

20
1. #®

30
2. v

40
3. %

50



Question Number : 28 Question Id : 51714412965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

How is my son’s daughter’s sibling’s mother related to my wife's only son?
o §C%0 Eretnth BantYsl) HO8, ar ards 2.8 E) s
P00 el E3?

Options :
Sister

1. =

5 % Sister-in-law
Wife

3.¢¥
Aunt

4, =

Question Number : 29 Question Id : 51714412966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
&1 180073’ 2rE0% S80S eddrd (AT G) Bk Gorarden
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Options :

Statement of reason
_— s°8es0 GInE) (HBED

Proposition to be proved
QBDoSROND (B3BarED
2. ®

Conclusion proved
swnhony AtFEHoSHl0d

Universal proposition along with an instance
4 STPSTEEES ot OB (DTS

Question Number : 30 Question Id : 51714412967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
6165 DE 0T O HBHEINS'E D0 HOC B eI
AW Yole

a)  Pratyaksha based on the perception of an object and Shruti based on
hearing.
28 S0 OBEY (1570 STPBOTP [H858, IVEG eSO (Hed.
b)  According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

VOSP SONHO) (@G0, taT B0 E5°ED, ) 6 FPGaDA (25
3¢50 €2sr) DO HoefibEdd (BSBO §°00 @05wr).



Options :

Only (a)

CIBUERY
1. #

Only (b)

(b) SSe|5 5D
2. %

Both (a) and (b)

(@) D003 (b) Dodr
3.

Neither (a) nor (b)

(a) S (b)DOT 7D
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Sub-Section Number : 4
Sub-Section Id : 517144530
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714412968 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
(a8: (80 203 32BN NadPi$0 s Q. 31 DO Q. 35 |4 0%
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The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77,000

808 2 0o 5 508 HOTOD P, HOE L FETS 00
asde do; 77,000

Percentage distihution of marks

» Failed (<35) » Third clas¥135-30) = Second class{50-60)
First Class(60-75)  » Distnction (75-85) Excellent{above 85)

Students who Failed in the exam in different subjects

v
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Sub questions
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How many students failed in Mathematics in the board exam?
5D DB S 11350 DOed O VrEen PONS eaiTsn?

Options :

1% 46200

15400

3 % 11550

4 x ST15
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
3308 DS 10% 206 HeIes0eS 100% 7000 Bt )50, ef
ABIES’ 100% S350 SIS eeeher Sowg 50T HedsoS” DN
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1. %

100%
o



150%

200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marksis
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% 1342
2314
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.
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The number of students who failed in Mathematics in terms of percentage is
50 NS0T Ked506S DoV o Aeetde Hows
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What is the full form of SSD?
e ae. & PO ENED

Options:

Smart State Display

1. %



Smart State Drive

“
. Solid State Display
4 Solid State Drive
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An unsolicited email message sent to many recipients at once is ........
©OrAS [ owen PG Trer 068 28r8 HodoHe

Options:

Virus
1. %

Attack

Spam

Memes
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Which of the following is a digital initiative for Robotics Qutreach Project.
655’5&&5 565 @véég £ HIDNG a8 &2ten D65

Options :

e-Vidwan
- Doeed

1% = DSM
e-Yantra

5 & B dSolss
e-Kalpa
a' é@"'

3. = =

None of the above
229 5°8)
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Firewalls are used to protect a communication network system against ........
2.8 a8 IDEYDH & BIHD od B0 Pdarenid edrRosHt



Options :

Virus attacks
IV wethen

1. %
Unauthorized attacks
) ®@NO5E oethen
Data driven attacks
Gt espebé oethen
3. ®
Fire-attacks
26 orthen
4, %
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URL stands for
Ghoe. e9b. ) edre

Options :

Universal Resource Location

Universal Response Locator



Unified Response Location

4.« Uniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
é:g}?@ ESateic @Jcﬁjo Qe fe égiﬂj@fﬁ] GEd Jciné

Options :

Irreversible and flexible
. @ﬂj;,?%@&&, SRS A

Reversible and flexible
[B5)E"Neb, @HIH6

Reversible and inflexible
[S58°N00, @DHIH6 5ot

Immutable and unchangeable
SrENDAB. SrENTeHB
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Which of the following agents is responsible for turning the Taj Mahal yellow?
SErenn 2 Dy Sl D)

Options :

Sulphur
Send

Chlorine
> % £68

Sulphur dioxide
Senb @ w86

3. ¢
Nitrogen dioxide
=S @ o586

4, %
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Why wind energy is considered a conventional source of energy?
md ¥82 dothBes DolarmrehE $8 S5t rHodtt?

Options:



as it can rotate a windmill
28 red dholeed)) SD)Neth

as it can help in lifting water
@b DB D8 HoKien

as it is readily available and used for a long time
©b 3063 EEHDH. B0 SITEROSBIND.

As it is produced due to uneven heating of the Earth
g8 eddrtorr Joinh Dol ©b &858 @D
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International Day of Natural Disaster Reduction is celebrated on...........
rfich 95 Shoz) @Joéoagécﬁj B30 RoE THEH &%

Options :
June 15
2oy 15
1. %
March 5
Eﬁ}vétj 5



October 13

- %’J%Sﬁﬁ] 13

September 13

D202t 13
4. % 9
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In which year the National Environment Protection Act was passed in India?
20805 8 et B epR) ©iBod dodéto?

Options :
1974

1. %

5 % 1981

3« 1986

4 % 1995
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Which is the first Open University in India?
B0805E° Fnisd FBY8E DIDagocHEn

Options :

Andhra Pradesh Open University
@olPHBE EYBE DI DD

Yashwantrao Chavan Maharashtra Open University

chE08 ooa) S Hoeld PSS DEDTgechEn

Indira Gandhi National Open University

- =080 rob er8ah PLBE DIDTRgeH

Nalanda Open University

L w dooor EBE HHRDogecHn
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What is the full form of ABC as per the NEP 20207
NEP 2020 ($setsim ABC eoidre

Options :

1.



Academic Basic Certificate.
“

Annual Basic Certificate.
2. %

Annual Bank of Credits

Academic Bank of Credits
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The purpose of value education is best served by focusing on...
& (B0b orlp B)a) 2GS Hend Sy GwE) ﬁé%ﬁﬁn SEre 385508

Options :

Cultural practices prevailing in the society.
HdresSns’ &) oYY eSbmen

1. %
Norms of conduct laid down by a social group
5 % 2.8 Jaire: Jehresrain DED SEDE DoHsnH

Concern for human values.

S5 Dende wodES
3.



Religious,moral practices and instructions
508, DB es58esren, stiden
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The best way for providing value education is through?
Dend) D ©ohoheoth HBALS 5GBS

Options :

Discussions on scriptural texts
_— e (Hogreg SBen

Lectures/discourses on values

5 % endop eHTgEReD, (Hhdorren

Seminars / symposia on values
QNN S/ 55%6_1}

Mentoring / reflective sessions on values
Dended &S B¥/ 1H8Doa SErRFen
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The full form of SAMVAY is......
SAMVAY ?’.gjvg SYLPSTNYY

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

School Assessment Matrix for Vocational Analysis of Youth

Skill Assessment Matrix for Vocational Analysis of Youth

3 Skill Accreditation Matrix for Vocational Advancement of Youth

School Accreditation Matrix for YVocational Advancement of Youth
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Section type: Online
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Which of Charles Hockett's sixteen design features of language refers to the

ability to talk about absent or non-existent objects?
Options:

Arbitrariness

Displacement
2. ¥

Openness
3. %

L Semanticity

Mandatory
100
100
200

Yes

0

1
517144532
Yes

null
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What is meant by the duality of patterning (i.e., what are the two levels at which
language is patterned?)

Options :

Sound and grammar

Sound and meaning

Grammar and meaning

Phonemes and morphemes
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The sign “A" in Chinese writing system is used for the word “king”. What is the
writing system in this language?

Options:

Logographic

1.4

Cuneiform
2. %

- |deographic

Pictographic
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Which of the following best describes linguistic relativity?

Options :

The idea that the structure of the language you speak is determined by the
~way you think about the world.

1. %

The notion that the structure of the language you speak is correlated in some
, . Vay with the world view of speakers.



The idea that the structure of the language you speak determines the way

you think about the world.
3. ¢

The notion that the grammatical structures found in a language are not

. determined by human genetics.
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Saussure's concept of langue is

Options :

The way language is used in society

The formal rules of language

The structure of speech sounds

The order of words
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Which of the following languages is written using the abjad system?

Options :

Chinese

, » B.English

Japanese

Arabic
4.9
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What is sociolinguistic competence?

Options :

- The ability to communicate with different people from different social groups

- Knowing how to use difficult words appropriately.



The ability to behave according to the rules of the society of which one is a
member.

3. %

Knowing how to use language appropriately in different sociolinguistic contexts
4, &
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What are the main two Gricean maxims involved if someone is said have ‘verbal
diarrhea™?

Options :

Quality and Quantity

1. %

- Relevance and Quantity

Relevance and Quality
3. %

Quantity and Manner
4.9
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Young children demonstrate linguistic creativity
Options :

In grammatical errors which they have imitated from their parents

1. #

In grammatical errors which they have not imitated from their parents
2. %

. By imitating nursery rhymes and stories from their parents

By creating their own nursery rhymes and stories
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The sentence ‘Can you show John where to find the paper clips? is an example of
function of language.

Options :

1 v Conative



Metalingual

Referential

Phatic
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The IPA came into existence in the year
Options :

.« 1889
, . 1887

1888
3. v

1987
4, #
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Whether or not a speech sound is nasalized depends on the position of the .
Options :

Tongue

1. #

Velum

Epiglottis
3. %

Pharynx
4, =
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Infants distinguish /pa/ and /ba/ but not /pa/ and /ta/. This is because they go by

Options :

Place of articulation of phonemes

1. %



Voice onset time
2. %

Pitch and accent of syllables

Rhythm of the syllables

4, %
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Groups of sounds which function alike cross-linguistically because they share
certain features are called

Options :

Taxonomic groups

1. %

Distinctive features

Language universals

Natural classes
4.
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The initial sounds in the words: ‘ship’, ‘church’ and judge’ are examples of
sounds.

Options :

Palato-alveolar

Palatal

, » Velar

Bilabial
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Look at the data in Seri

I-m-ii ‘who doesn't hear it
I-m-pii ‘who doesn'’t taste it
I-n-sii ‘who doesn’t smell it
i- p-jaa ‘who doesn’t own it

I- n-kaa ‘who doesn't look for it’

The negative prefix in Seri shows

Options :

\oice assimilation

Place assimilation
2. ¢

) Manner assimilation
3.

Feature assimilation
4. %
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With reference to rule ordering, given two rules a and  such that a precedes B,
B counterfeeds a iff

Options :

B creates additional inputs to a
1. %



a creates additional inputs to

a eliminates potential inputs to B

L B eliminates potential inputs to a
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How do we represent the phonological rule for the statement the sound /d/
becomes /z/ hefore a word boundary, or before a C followed by a word boundary’.

Options:

/dl > [z]/__(C)

> _(CH
e

Izl >[d]/_C#

4, =
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Choose the correct phonemic transcription of the following word: photography.

Options :

[fa'tografr/

1. ¢

/fa'tougraef1/

- [fau'togra f1/

[fautagra:fi:/

4. ®
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Velar sounds are formed by

Options:



The middle of the tongue up against the hard palate

Both lips coming together

The back of the tongue against the soft palate

The tongue touching the lower lip
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Creation of a new word by removing an affix from an old word or by removing what
is mistakenly considered an affix is called

Options :

- Clipping

. Compounding

Back formation
3. ¢

Affixation
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Which of the following is NOT a category of verbal morphology?

Options :

Case
1.

Tense
2. w
Person

Aspect
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All the inflected forms of a word are called its

Options :



Phonemes

Lexemes
2. ¢

. Morphemes

Graphemes
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In the data
kasi ‘todigs  kniasi ‘act of digging’
kakri to cry’  kniakri ‘act of crying’

The language data is an example of

Options :

Suffixation

1. %

Prefixation

Circumfixation



Infixation
G
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The word ‘malware’ is an example of

Options :

Blending

1. ¢

- Affixation

Compounding
3. #®

L Clipping

Question Number : 76 Question Id : 51714413014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The morpheme that remains when all affixes are stripped off from a complex word
is called

Options :

o Morph

Root

2. ¥

Stem
3. ®

Free
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The compound chatur-anga ‘four limbed'is a compound.

Options :

- Tatpurusa

- Bahuvrihi

Dvandva



Avyayibhava

4. ®
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What restricts the productivity of -en in the following set?
blacken *bluen

shorten *tallen
fatten *thinen
Options:

The number of morphemes

The number of syllables

The nature of the final phoneme

The stress pattern on the syllables
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Read the sentence below.

Eu Fiz Jose comeros bolos
|.sg make+past+1sg  Jose eat+infthe cakes
‘| made Jose eat the cakes’

How does the language make causatives?

Options :

~ Lexically
1. %

Morphologically
2. %

Periphrastically

3.

Analytically

4, %
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Arule such as
3 POSS — a- with kinship nouns, i- elsewhere
is included in the lexicon of a language to handle

Options :



y Suppletive allomorphy

Phonological allomorphy
2. ®

, » Freevariation

., Polysemy
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In the sentence, You need to meet the teacher after class in her office tomorrow,
which of the phrases below is argument of the verb meet?

Options:

The teacher

1. ¢
- After class

—In her office
3_ 4

~ Tomorrow
4. %
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Which of the following is an example of a raising construction?
Options:

John believes him to be hardworking

He seems to be hardworking

2.
- It seems he is hardworking

John believes that he is hardworking
4, %
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Why do wh-words have to undergo wh-movement?

Options :



To agree with the |-head

To be assigned Case

To be assigned theta-role

To get the operator interpretation

Question Number : 84 Question Id : 51714413022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the sentence, Gonzo's friend voted for himself, Gonzo’s friend can bind himself
but not Gonzo because

Options:

Gonzo is not in the local domain of the reflexive

Gonzo does not c-command the reflexive
2. %

Gonzo is a girl, and there is a gender mismatch



Gonzo is in a different clause
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In the sentence, “The doctor promised to examine the patient’, PRO helps in
fulfilling the

Options:

- Projection principle

Theta criterion
2. %

Tense constraint

Wh criterion
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In the Minimalist framework, which one of the following is NOT TRUE about a
strong feature?

Options :

It is uninterpretable to the articulation interface

- It is visible to PF

- It must be eliminated before reaching Spell-out

It drives covert movement
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In the sentence, Who t invited John to the party? The empty category t has the
following features:

Options:

+ anaphor, + pronominal

1. %

y -anaphor, - pronominal

+ anaphor, - pronominal
-



— anaphor, + pronominal
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In the sentence, “Bill is innocent”, what assigns theta role to Bill?

Options :

‘Bill" has inherent theta role

The copula assigns theta role to ‘Bill

2. %

- The predicate ‘innocent’ assigns theta role to ‘Bill’

Theta role is assigned to ‘Bill’ vacuously
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What is Burzio’'s generalisation?
Options :

- If a verb assigns Accusative Case, then it has an external theta role

If a verb assigns Nominative Case, then it has an external theta role
2. %

If a verb assigns Accusative case, then it has an internal theta role
3. %

If a verb assigns Nominative case, then it has an internal theta role
4, %
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Who was the first person to propose the Split CP hypothesis?

Options:
Richard Larson

- Noam Chomsky

- Richard Kayne



L Luigi Rizzi
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The term ‘beltway’ used for a highway that circles around a city is an example of

Options :

Metonymy

1. %

- Metaphor

Synecdoche
3. %

Polysemy
4. =
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The distinction between Sinn and Bedeutung was drawn by
Options :

- Alfred Tarski

GottlobFrege

2. %

Ludwig Wittgenstein

Donald Davidson
4. #
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In truth conditional semantics, the denotation of a proposition is

Options :

“f A truth value, either True or False

Function from the set of entities to the set of truth values

5 » Anargument



An ordered pair of entities
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Read the interchange below :

Speaker A: Where are you coming from?

Speaker B: Butter is yellow.
Which of the conversational maxim(s) is/are violated in the above dialogues?

Options:

- Maxim of quality

- Maxim of relevance

Maxim of manner
3. %

, « All the above
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Correct Marks : 2 Wrong Marks : 0

Which of these sentences contains a performative verb?

Options :

| hear you sing every day

1. %

| promise to leave at 10 pm
2.¢

, » |'will certainly meet you

| kKnow you are talented
4, #
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In the sentence, ‘He arrived on time’, what kind of event does the verb indicate?

Options :

Accomplishment

- Achievement

~ Semelfactive
3. 4



4« Otative
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The notation 3x * 3p (Like (x,p)) is true for which of the following sentences?

Options:

Someone likes pizza

Everyone likes pizza

No one likes pizza

Not everyone likes pizza.
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Tense marking on verbs understood as system for locating described situation
(ET=EVENT TIME) with respect to context of use (ST=SPEECH TIME), potentially
with respect to a perspective location (RT=REFERENCE TIME). How would the
sentence “John had left” be represented?

Options :

RT=ET < ST

RT <ET=ST

2. %

ET<RT<&T
3.

, » ET<RT=ST
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Given below is a statement and an inference
P: See how hard we work fo feed our guests
Q: Our guests will appreciate our hard work.

Statement Q is

Options:

An implicature



, A presupposition
- An entailment

A generalization
4, %
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Dialogue:

Person A: Is Dave a friendly guy?
Person B: He's not unfriendly.
The implicature that Dave is not friendly is evidence of

Options :

Scalar implicature
1. %

Presupposition

Generalized implicature
3. %

Counterexample
4, %
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Which of these is not a sequential change?
Options:

Deaffrication
1. %

Assimilation
2. %

- Metathesis

Epenthesis

4, #
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Look at how the pronunciation of Latin words change in Italian and Old French.
Latin  centum k] Italian cento [t  ‘one hundred

Latin -~ medius [d] Italian mezzo[dz] ‘half

Latin gentem  [g] OldFrench gent [d3] ‘people

What is the type of sound change illustrated in the data above?

Options :

Debuccalization

Nasalization

. Degemination

Palatalization
4.
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Examine the vowel change in the data.
Latin  pp rdere ltalian perdre‘lose’
Latin  vivere ltalian vivre ‘live’

What kind of sound change is illustrated in the data above?

Options:

. » Umlaut



Syncope

Apocope

VVowel reduction
4.
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During Middle English, consonant deletion resulted in the loss of [g] in word-final
position after a nasal consonant, leaving [n] as the final sound in words such as

sing’. It created a minimal pair -/sin/ and /si/. What kind of phonological change is
indicated here?

Options :

Phonological merger

Phonological spilt
2. %

Phonological shift

4w Phonological reduction
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The term applies to certain changes in vowels in accented syllables
owing to the influence of neighbouring sounds.
Options :
Ablaut
1.
Umlaut

- Vowel gradation

. Vowel shift
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The lexical diffusion theory argues that sound change is

Options :



y Phonetically abrupt and lexically gradual

Phonetically gradual and lexically abrupt

Phonetically abrupt and lexically abrupt

Phonetically and lexically gradual
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The method that studies relationship between two or more related languages with
the objective of reconstructing the earlier form from which they developed is
referred to as the

Options:

. Typological method

Genealogical method
2. %

, « Statistical method



J Comparative method
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states that aspirated stops become unaspirated before an aspirated
stop in the following syllable in Greek and Sanskiit.

Options:

Grimm’s Law

Verner's Law

Grassman’s Law

Bartholomae’s Law
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In the Great Vowel Shift, there was a general raising of the

Options :

v Long monophthongs that were stressed

Short monophthongs that were stressed
2. %

- Long diphthongs that were stressed

. Short monophthongs that were unstressed
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Which scholar gave a famous speech to the Asiatic Society in 1786 which is
considered a watershed moment in the development of comparative linguistics?

Options :

William Jones
W
- Alexander Pope

Horace Smith



John Johnson
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Languages are genetically related if they

Options :

- Are typologically similar are derived from a single proto-language

Are spoken by genetically related groups of people
2. %

Are spoken in the same geographical region (e.g. Continent)
3. %

L Share the same two parent languages
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The co-existence of two different forms of language in a society, often a ‘high’ and
low" or official and common form is called

Options :

Linguistic relativity.

1. %

Bilingualism.
2. %

Diglossia.
3. v

L Pidginization.
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Studies which compare the speech of older speakers to that of younger speakers
in order to investigate language change in progress are

Options :
Longitudinal studies

. Cross-sectional studies
2.

Comparative studies
3. %



Apparent time studies
4. &

Question Number : 114 Question Id : 51714413052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When pidgin becomes the first language of the community the process is known as

Options :

Decreolization

Creolization
2. %

Post creole continuum
3_ e

L Pidginization
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Tenor in register refers to

Options:

Purpose and subject matter of communication

1. %

- Means by which communication takes place

The relationship between participants
3. v

L The nature of speech act used
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When people assume that if you speak with a southemn accent, you are not well
educated, they are acting on

Options :

Symbolism

Linguicism
2. %



Racism

Imperialism
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Who among the following is associated with the notion of elaborate code and
restricted code?

Options :

Basil Bernstein
1.9

Emile Durkheim

Robert King Merton

Bloomfield
4, =

Question Number : 118 Question Id : 51714413056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

The gradual merging of one regional variety of a language into another is known
as

Options:

| « Dialect boundary

- |sogloss

v Dialect continuum

Dialect geography

4, %
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Language change brought about through the process of borrowing from other
dialects or languages is

Options:
Internal in nature

1. %

External in nature
2.



Linguistic imperialism
3. %

Linguistic loss
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According to the Speech Act theory, certain conditions that performatives must
meet in order to be successful are

Options :

Felicity conditions

Familiarity conditions

Feisty conditions

Loud utterances
4. ®
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The type of universals that states a dependency between two logically
independent parameters (with one parameter usually consisting of two
typesivalues) s called a

Options :

Absolute universal
1. ¢

Implicational universal
2. #®

Statistical universal

3, #

Unrestricted universal
4, %
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Almost all the languages have nasal consonants. (Exceptions: Salish). This is a
universal.

Options :

Unrestricted, statistical



Unrestricted, absolute

2. %

L Implicational, absolute
Implicational, statistical

4, %

Question Number : 123 Question Id : 51714413061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of these is the accessibility hierarchy in number proposed by Greenberg
(1963)?

Options :

Singular < Plural < Dual < Trial
. Singular < Dual < Trial < Plural
5 s

- Singular < Trial < Plural < Dual

Plural < Singular < Dual <Trial
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A postulated ancestral language from which a number of attested languages are
believed to have descended by evolution is called a

Options :

Primordial language

Primitive language

Pre-language

Proto-language
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What kind of morphological typology does the language, Alutor indicate?

gamma takkannalgankuwwatavstkan

gamma t-akka-n-nalge-n-kuww-at-ave-tk-an

1.abs 1sg.s-son-caus-skin-caus-dry-suff-suff-pres-1sg.s
| am making a son dry a skin/skins.’

Options :

Isolating

1. %

- Synthetic

- Agglutinating

y v Polysynthetic
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Which of the following implicational hierarchy is proposed for open classes by
Hengeveld et al. (2004)?

Options :

Noun < Verb < Adjective < Adverb



Verb < Noun < Adjective < Adverb
2. %

Verb < Adverb < Noun < adjective
3, #*

Noun < Adjective < Verb <Adverb
4. %
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Languages from how many families are found in India?

Options :

1. 4
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Who extensively documented the Great Andamanese family of languages?
Options :

. William Jones

- George Weber

- Zarine Cooper

4V Anvita Abbi
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Basque in Europe, Ainu in Asia and Tiwi in Australia are

Options :

Endangered languages

1. %

L v Language isolates



Extinct languages

Unclassified languages
4, =
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The approach that compares ancient texts and documents to analyze long-term
linguistic change is called

Options :

Cryptography

Semiology

Etymology

Philology
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When young children create plurals like ‘childs’ and ‘sheeps, we can characterize
this as a case of

Options :

Assimilation

, Overgeneralization
2. %

Semantic shift

Qverextension
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What happens in a Tip-of-the-Tongue state?
Options :

» You can't retrieve the lexeme of the word you need



- You can't retrieve the category of the word you need

. You can't retrieve the lemma of the word you need

) x You can't retrieve the affixes of the word you need
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Children are NOT born with innate knowledge of the existence of:
Options :

Grammatical functions (e.g., subject, object)

Grammatical features (e.g., tense, number)
2. %

Position of heads in phrases
3. %

Phrase structure configurations (i.e. X-bar theory)
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At what age (earliest) do children show sensitivity to the fact that meaning is
carried by word order in English?

Options:

8 months

10 months

12 months

16 months
4. %
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What semantic relation is being indicated in child's speech in the utterance ‘Sit
chair’?

Options:

- Action-object



- Agent- attribute

Agent-action

Action-location
4,
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Norm-referenced assessment helps us

Options:

Measure a student's academic performance against some standard or norm

Assess the amount of material known or learned by each student
2. %

Rank an individual test-taker in comparison fo a subset of the population that

5 also took the same test

Evaluate the success of an educational programme
4. %
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The chief criticism of multiple-choice items is that they

Options :

Fail to discriminate well among the test-takers

Require careful preparation and construction
2. %

- Cannot be used with children under a certain age

. Do not lend themselves to testing language as communication
4.4
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The teacher says commands and acts them out. The students try to perform the
action. The teacher repeats by saying the command without acting it out. The
students respond. The roles are then reversed. This methodology is referred to as
approach.




Options :

- The direct

, » lotal physical response

- The natural

~ The silent
4, %
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After Maria photocopied an article she noticed that one letter was chopped off at
the end of each line. She was happy to find she had no trouble reading the

article even though the letters were missing. Her ability to read the article
reflects

Options :
Parallel processing

1.4

Serial processing
2. %

- Bottom-up processing



L Top-down processing
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Which of the following is a garden path sentence?

Options :

The students will discuss some problems with the teachers.

1. #

, The horse raced past the barn fell.
2. %

The detective saw the girl with a telescope
3. %

L The dog that | had really loved bones.
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A is one that maintains the original content without changing the
structure, form or style.

Options :
literal translation

1. %

- Blank verse translation

Rhymed translation

Metrical translation
4, %
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Nida's most notable contribution to translation theory is his concept of
Options :

Decoding

Dynamic Equivalence

Encoding



History of translation
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Machine translation converts a text from

Options :

Human language to machine language

- Any human language to English

, One human language to another
3. %

Machine language to human language

4. ®
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One of the main challenges of NLP is

Options :

Handling tokenization

1. %

Handling ambiguity in sentences

Handling POS tagging

Handling text-to speech conversion
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Alan Turing in 1950 designed to test whether machines can think.

Options :

J A Chinese room

, » Anintimation game

Artificial intelligence
3. %



ELIZA
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What does the term OED stand for?

Options :

Online English Dictionary

1. %

- Oxford English Dictionary

- Official English Dictionary

Oxford English Directory

4, %
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Amarakosa - a 4th CE work of lexicography organizes words on the basis of .



Options :

POS Categories

, Semantic classes
e

Morpho-syntactic categories
3. %

Synonymy
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Who formulated the sphota theory?
Options :

Bhatrihari
1. ¢
Panini

Nagarjuna

Patanjali



Question Number : 149 Question Id : 51714413087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What stylistic device can you see here: I've lost my keys and my mind.
Options:

- Apostrophe

Oxymoron
2. %

- Understatement

Zeugma
4.
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A indexes the principal words in a literary work, often with the
immediate context and an account of the meaning.

Options :



Glossary

1. %

- Bibliography

., Corpora

Concordance
4.



